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Which two of the following prerequisites would you choose to create a branch rule for parallel development? (Choose Two)
* Give team members access to the team application

* Circumstance the origina rule

* Create ateam application

* Save acopy of the original rule into the base ruleset

QUESTION 37

What is the difference between using the Call and Branch methods in an activity step to invoke other activities?

* Branch overrides the security restrictions of the called activity allowing you to easily test code; it will not run in production.
* Branch creates anew thread to allow asynchronous processing, while Call runsin the thread from it was invoked.

* Call provides more robust debugging capability than Branch, while Branch provides better run-time performance.

* Call returnsto the originating activity, while Branch skips the remainder of the originating activity.

QUESTION 38

Y ou are troubleshooting a performance issue with a user interaction that exceeds the maximum time of five seconds. The elapsed
time shown in the performance report indicates a total of two seconds.
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Which tool do you use to determine what is adding the additional three seconds to the performance measure?
* Performance Profiler

* Database Trace

* Log Analyzer

* System Management Application

QUESTION 39

Select two actions can you do with the Pega API? (Choose Two)
* Create anew case

* Add aproperty to a dataclass.

* Access datafrom a data page

* Update a decision table.

QUESTION 40

Which two types of records does the External Database Table Class Mapping wizard create? (Choose Two)
* The Database data instance

* The Property rules used to map to the table columns

* The Database Table data instance

* The Connect SQL rule used to retrieve the data

QUESTION 41

A class group is used to.

* identify alayer of the Enterprise Class Structure

* combine related properties by usage

* assign work to a specific group of users

* store data from different child classesin asingle table

QUESTION 42

Y ou want operators in two separate units to be able to perform work routed to either unit.
Which configuration supports this requirement?

* On each operator& #8217;s record, associate the operator with both units.

*On each operator& #8217;s record, associate the operator with the same work group.

* On the work group record, associate the operators with the work group.

* On each unit record, associate both operators with each unit.

QUESTION 43

In the first step in a case type, the user compares data on aform to the data on a customer account. If the data matches, the caseis
resolved. If the data does not match, the user advances the case to update the account.

Management only wants a record of the cases that update an account .

What two configuration options do you use to implement this requirement? (Choose two.)
* Add aPersist Case shape after the first step.
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* Apply awhen condition to the first step to persist only cases requiring updates.
* Configure the starting flow to instantiate the case type as atemporary case.
* Configure thefirst step to instantiate the case type as atemporary case.

QUESTION 44
The customer, a medium size toy maker, wants to fulfill orders received during the peak
season in December and process them in batches multiple times a day.

How do you implement this use case?

* Create a queue processor that can process orders received by the company.

* Create one scheduled job and select its run schedule as multiple times a day.
* Create batches of orders and send each batch for processing when it gets full.
* Create scheduled jobs, one for each run, that can process accumulated orders.

QUESTION 45

Which two rule types can you mark as arelevant record? (Choose two.)
* Property

* Decision table

* SKkin

* Section

QUESTION 46

The keyword Primary is a prefix to the value in the current case. Y ou have added weighted conditions to duplicate case search in a
casetype.

How do you configure the condition fields to differentiate between fields on the current case and fields on the existing case?
* Prefix the keyword Primary to the value used in the current case.

* Suffix the keyword Primary to the value used in the current case.

* Prefix the keyword Primary to the value used in the existing case

* Suffix the keyword Primary to the value used in the existing case

QUESTION 47

Management reports that have an unacceptably large number of cases are incorrectly identified as duplicate cases .

Which two approaches could you use to modify the duplicate case search process so that it

produces fewer invalid duplicates? (Choose Two)

* Add aPersist Case step after the Duplicate Search step.
* Adjust the condition weights.

* Adjust the threshold value.

* Do not use amust match condition.

QUESTION 48

Which tool do you use to identify missing alternate text for an image?
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* Live Ul

* Accessibility Inspector
* Tracer

Clipboard tool

*

QUESTION 49
Several development teams work on different enhancements. The release date for each enhancement is uncertain.

Which two options allow each team to keep its work separate? (Choose two.)
* Set up branch ruleset for each team.

* Create a new application for each team.

* Create anew ruleset version for each team.

* Create a production ruleset for each team.

QUESTION 50

When a process is configured to create temporary cases, which of the following occurs when a user creates a case?
* The system creates an object |D and stores the case in the database.

* Datais stored in the database.

* The system stores case data on a clipboard page specifically for temporary cases.

* The caseis stored in memory.

QUESTION 51
A new system architect questions the value of allowing attachmentsto cases .

What would be your best response?

* Pega provides attachment functionality out-of-the-box, so it must be important.

* Attachments can provide additional information required to process a case.

* Adding attachments to cases is the method of choice for storing case documentation.

* Caseflow is dependent on attachments because attachments provide information essential to a case.

QUESTION 52

Identify three true statements about accessing databases through external classes (Choose Three)
* External classes require a Pega-generated composite key.

* External classes do not contain the pzinsKey property.

* Externa classes cannot belong to a class group.

* External classes contain a BLOB for faster processing.

* External classes map Pega properties to database columns.

QUESTION 53

Which two design configurations limit the need for horizontal scrolling when an application is used on a mobile device? (Choose
two.)

* Hide noncritical columns.

* Use grid layouts rather than repeating dynamic layouts to display tabular data.

* Configure Ul controlsto use native controls on mobile devices.

* Set the width for layouts in percentages.
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QUESTION 54

Which three statements are valid about configuring Pega Web Mashups? (Choose Three)
* Customize the display size of your mashup through the data-page-resizetype attribute.
* Keep the original names of default actions in mashup code to prevent security risks.

* Add alist of trusted domains in your applications that you want to use the mashup in.
* Use the integration wizard to generate mashup code for use in external systems.

* Only create one DIV element in the hosting web page per Pega gadget.

QUESTION 55

The reason you want to run a process immediately before taking performance readingsis
* 1o train the system which process we& #8217;re going to measure

* to make sure there are no bugs in the system

* to alow therulesto assemble

* to make sure we know which buttons to click so we can be quick

QUESTION 56

Which two options do you consider when creating a pre-processing data transform? (Choose Two)
* The potential reuse of the flow action

* The effect if the flow action is rel oaded.

* Thetiming of the commit for the flow action.

* The security setting for the flow action.

QUESTION 57
A user reports that an application takes five seconds to compl ete a step and present the next step in a process.

Which tool alows you to gather and analyze performance data for the form submission?
* Performance Profiler

* Performance Analyzer (PAL)

* Database Trace

* Tracer

QUESTION 58

Which two data elements can be used as an attribute for an access control policy? (Choose Two)
* Appointment date

* Number of dependents

* Password string

* Encrypted bank account number

QUESTION 59

Y ou are working on an update to an application which only affects some rules for a certain case type. The customer has requested
that a patch update the application.

How do you create the new ruleset version?
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* UsetheLock & Roll functionality to lock the current ruleset and increment the ruleset version.

* Use the Ruleset Maintenance wizard to skim the relevant rulesets to copy the highest version of existing rules to the new version.
* Create a branched ruleset, then copy the affected rules into the new branched ruleset.

* Use the Ruleset Maintenance wizard to merge the existing rules in the relevant rulesets to the new version.

QUESTION 60

University admission application cases automatically advance in the case life cycle if the applicant& #8217;s standardized test scores
are above a certain threshold. The threshold is determined each year based on the provided national average score.

Which two configurations, when applied together, support this requirement? (Choose Two)

* Configure a process with a decision shape that continues if the TestThreshold Configuration setting is less than the
applicant& #8217;s test score.

* Configure a TestThreshold Configuration setting with the national average for the test score threshold.

* Configure a TestThreshold Configuration setting that cal culates the national average for the test score threshold.

* Configure a process with a decision shape that continues if the TestThreshold Configuration setting is greater than the
applicant& #8217;s test score.
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